e VYKOP NASYP HUTNENY
3 = N A T
(] 1% @ = c c = c c
= 2 2 = c B Hmota = S 3} Hmota
B 8 Q2 c 5 S c 5 S
O n 8 3 o 2 3 o] 2

N - on o - on o

~ m? m? m? m®
PP21 0,00000 33,23 16,63

7,30 76,14 38,07 277,91 32,94 16,47 120,23
PP22 = 0,00730 42,91 16,31

22,75 90,89 45,45 1033,87 32,56 | 16,28 370,37
PP23 | 0,03005 47,98 16,25

22,75 92,49 46,25 1052,07 34,04 | 17,02 387,21
PP24 | 0,05280 44,51 17,79

7,28 88,58 44,29 322,43 40,54 20,27 147,57
PP25 | 0,06008 44,07 22,75

11,00 55,28 27,64 304,04 38,18 | 19,09 209,99
PP26  0,07108 11,21 15,43

13,12 19,68 9,77 128,12 23,75 | 11,88 155,80
PP27 | 0,08420 8,32 8,32

SOUCET 3118,45 1391,16




